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SECTION-A
i) General Awareness
Sy 1. Garampani sanctuary is located at 5 \Which of the following is cold ocean
& (AY Junagarh, Gujarat current 7
(B) Diphu, Assam (A) Gulf Stream

(C) Kohima, Nagaland ;
(B) Labrador
(D) Gangtok, Sikkim

(C) Kuro Shio

2. Which of the following is not a feature
| of Gandhara School of Art ? (D) None of the above - 4

(A) It was patronised by Sakas and
Kushans 6. Who has been awarded the First

(B) It has Indian an d Greck influence Lifetime Achievement Award for his/her

| contribution in the field of Cinema 7
(C) It portrayed human figures exactly

. 4 (A) Ashok Kumar
(D) It resulted in the origination of

| Hinayanism (B) Hou Hsio-hsein
| 3. Most popular Sufis were the (C) Akiro Burosova
(A) Rabia (D) Bernardo Burtolucci
(B) Hallaj
(C) Ghazali 7. Which is the highest Gallantry Award
in India ?

(D) All of the above .

(A) Param Vishishtat Seva Medal

4. Guwahati High Court is the judicature of
(B) Param Vir Chakra

(A} Tripura

(B) .Arunacha! Pradesh (©) Kirti Chakra

(C) Assam

(D) All of the above (D) Vir Chakra
A* 4
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§ 8. The journalist who refused to accept 12. Which of the following countries is
g ‘Padma Bhushan' was 7 ok i ol ?
(A) Shekaran Nair
(A) Singapore
(B) Khushwant Singh
B) Thailand
(C) Ratan Thiyam &) '
(D) Arun Shourie (C) Pakistan
(D) Indonasia

9. The ionosphere includes

(A) Mesosphere
13. The ratio of width of our National Flag

B) Th
IB) & Trerponphere to its length is

(C) Thermosphere and exosphere

(A) 35
(D) Thermosphere, exosphere and
mesﬂsphare (B} 2:3
10. The leading state in producing paper is (c) 24
(A) Bihar (D) 34
(B) West Bengal
(C) Kerala 14. ‘Natya - Shastra’ the main source of
(D) Orissa India’s classical dances was
written by
11. Who wrote the line: * A thing of beauty :
is a joy forever’ ? (A) Nara Muni
(A) John Keats (B) Bharat Muni

(B) Robert Browing
(C) P.B. Shelley
(D) William Wordsworth (D) Tandu Muni

(C) Abhinav Gupt

A* &
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o TR, ForEi e’ greE e
d g A e 7

(A) IHEH T
(B) geEw e
(C) T Form
(D) w0 I

HFEAIEA oft s 2 |

(A) HeIgSe (HHERE)

(B) T (3%T) Hee (aHiehia)

(C) aM (3%0) "Ee (gaehEr) @
AfgHee (EEER)

(D) T (37) UeH, IieHee SR NS

FITS % IedTed § Sl iy
(A) Tomr

(B) 9. =TS

(C)

(D) =fen

"o i 39T =gl 3t v g whes A
FATFFAE 7

(A) S HE

(B) T s3m

(C) . ft. Sreft

(D) Ffeas sy
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12. T=afEiEa 2si § U FEl ae FI 39T Y
i 2 7

(A) T
(B) 9nEde
(C) i

(D) EEFfEE

13, BUR U a1 1 e oh e B geeht

HTST 1 S FTE 7
(A) 35
(B) 2:3
(C) 2:4

(D) 34

14.

YRAE &Y 0 & g8 Hia ARl
e’ o T 21

(A) THA

(B) =g
(C) T

(D) weHM
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| f 15, Mahmud Gawan was Prime Ministerin 18. The Indian Alr Force calsbrated its

Ll Golden Jubilee in
£ (A) Gujarat Kingdom

| (A) 19862
(B) Kingdom of Kashmir
(B) 1972
(C) Bahamani Kingdom i
(C) 1982
(D) Kingdom of Mysore
(D) 1992

| 16. Mansabdari system was introduced by
| 19. The power to decide an election

(A) Akbar petition is vested in the

(B) Jahangir (A) Parliament

(©) Sher Shah (B) Supreme Court

(D) Balban (C) High Courts

(D) Election Commission

17. If the speaker of the state legislative
assembly decides to resign, he 20. Who among the following included his

should submit his resignation to the rival in his cabinet ?

(A) Govermor (A) Henry Kissinger

(B) Chief Minister (B) Shevardnaze

(C) Judge of the High Court (C) Margaret Thatcher

(D) President (D) Robert Mugabe
Ax -

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

_— : . E—— ————




16.

17.
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(A) 3TFa
(B) wERfR
(C) vraEmE

(D) wetE

IR fauETT % sveus F T
BI Al 98 379 sedvhl uw Bl i 7

(A) TIITE a1 TE

(B) e

(C) == =TTy & =i
(D) g

18.

18.

20
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TR STgEAT 3 q1e1 =
P A |

(A) 1962

(B) 1972

(C)

1982

(D) 1882

T T T AT
HE |

(A) HHE
(B) HaT=a gEwHE
(C) T== ==y

(D) =T AWM

590 H TR or9a witesed 1 o &
giEmee o e G 7

(A} B0 Rl
(B) HE=
(C) Ttz der

(D) e g
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ii) General Intelligence and Reasoning Ability

FETVE T
'I_‘l’
AR

B

. ;‘;}‘"; 21. Look at this series: 201, 202, 204, 26. Tanya is older than Enc.
- E&’g;’ 207, ... What number should come Cliff is older than Tanya.
' next 7 Eric is older than CIiff.
(A) 205 (B) 208 If the first two statements are true,
©) 210 D) 211 the third statement is
(A) True '
Direction for Question 22 & 23 : (B) False
. Find the word that a necessary part of the (C) Uncertain
i underlined word. (D) None of the above
22. ovation E
(A) outburst (B) bravo 27. Statement : “In order to bring
(C) applause (D) encore punctuality in our office, we must
] provide conveyance allowance io our
| : employees.” — In charge of a company
| 23. antique tells Personnel Manager.
| (A) rarity
(B) Anitast Assumptions :
(C) aged ) Conveyance allowance will not
help in bringing punctuality.
(D) prehistoric
Il) Discipline and reward should
| 24, Firm: Flabby : : Piquant : ? &) 2“;&?5 w2 har::cl w: hand.l
| nly assumption | is implicit
| (A) Bland | il
(B) Salty (B) Only assumption Il is implicit
(C) Pleasant (C) Either | or ll is implicit
{D} Small {D‘j Both | and |l are impli{:it
25. Naphthalene : Woolen : : Antibiotic : ? 28. SCD, TEF, UGH, ___, WKL
(A) Germs (A) CMN
(B) Immunity (B) UJI
; (C) Diseases (C) VI
| (D) Body (D) T
| A#* -10-
1
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ii) T ghgm aur Arfes gt
21, IW FHIE T 3@: 201, 202, 204, o6, AT I A S g | T
' 207, ... AT e Fefafar g awn WHAYE | U s g sy Haei 2 |
] drenft 7 TR YHATH 1 Fefed Hel § a1 dier
(A) 205 (B) 208 o R
(C) 210 (D) 211 (A) i
(B) Treid
22 T 23 HEaTaTH WAl @ ferg feomfadr ©) ffEm
frrferfian sl # =% we 18 g4, S e :
9755 &1 U BT R | (D) ¥ & s +ff el
5 e 27. wEwed ; I g HE e W
o S ¥ o g oo st =
) wrar e afen | st a3 s
l THYE Y FA |
| (C) wiEf _
D) TREfrFEm ECIRRIEE
] e ) g e RS 8 g o e
] 23, WA HEE T SRRl 3 .
: Il) SHITEA ST TR FHE A A
*) 1Y = AR |
T AR
(B) !
6 it A (A) %ﬁaqg'igrrmmﬁf%a‘ g
(D) T (B) “ae qaige || siafifza gl
(C) =al I || AR |
24. WG : YHYT : ; e ;7 (D) |31 EF SaHREa 2 |
(A) ®o=Rl (B) v 2
(C) @A (D) &= 28. SCD,TEF, UGH, __ _, WKL
(A) CMN
25, AGYAH : Tl ; : G ;7 (B) UJI
(A) T (B) wftmamr (©) VI
(C) ! (D) IRR (D) T
A* 11-
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g EF 3
I ;E 29. CMM, EOQ, GQQ, KU Actress #3 is 5 4" and of medium build, She
= 1 s has red hair, browneyes, and is in
| Lo el B ] '
| g > ) " e her early forties.
(C) 1SS 2 BEAN ! Actress #4 is a blue-eyed redhead in her early
thirties. She's of very slight build
30. PsQR,P,QS,P,QT, ____, P,QV and stands at 5.
(A) PQW (B) PQV, (A) 1,2
(C) P,QU (B} PQsU (B8) 2,3
;’ c) 1,4
| Directions to solve Question No. 31:
: Each question presents a situation and asks (D) 2.4
you to make a judgment regarding that | 35  Here are some words translated from
| ﬁartlt';ular cllrcurrlsftancet._ Choose an answer an artificial language.
! i it e gorblfiurmeans fan belt
| - :
| 31. The film director wants an actress f.or pixngorbl means ceiling fan
the lead role of Lucy who perfectly fits ]
figes ; arthtus! means tile roof
| the description that appears in the Which q I sosiling file” 2
| original screenplay. He is not willing bt i Sl el
| to consider actresses who do not (A) Gorbltusl
resemble the character as she is (B) Furgorbl
| described in the screenplay, no matter (C) Arthflur
! how talented they are. The screenplay (D) Pixnarth
i describes Lucy as an average-sized,
| forty something redhead, with deep 33, Here are some words transtated from

brown eyes, very fair skin, and a
brilliant smile. The casting agent has
four actresses in mind.

Actress #1is a stunning red-haired beauty

who is 5 8" and in her
mid-twenties. Her eyes are
brown and she has an olive
complexion.

Actress #2 has red hair, big brown eyes, and

A*

a fair complexion. She is in her
mid-forties and is 5'5".

-12-

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click

an artificial language.

agnoscrenia means poisonous spider
delanocrenia means poisonous snake
agnosdeery means brown spider
Which word could mean “black widow
spider” ?

(A) Deeryclostagnos
(B) Agnosdelano
(C) Agnosvitriblunin
(D)  Trymuttiagnos




55

29. CMM, EOO, GQQ, KUU
(A) GRR (B) GSS
() ISS 0y ITT

30. P-QR,P,QS P,QT,____,P,QV
(A) PQW (B) PQV,
(C) P,QU (D) PQLU

Uy |EET 31 % wataA & foro Ranfadn

geieh o O e feufa & w2 | oftferf
fergry w famm = g v ara fofa | &
T SR o ST T B ST 3791 I A |

ue fhen Feme gt s ge gt S
oo ek Wt P =meT & <1 e vewn
7 fou e fEw w fiege e 93 | 97
1w T 9fE F e & sEy T 8,
wei g 98 fora] &1 wfasmae =i 7 21 |
e S i e ven 2, 3 s
el it et oftam, =elta i 38, @
Fretiare, 31d e i, - e
STHER HReT=aTet @ | aiee usfe & faum
oo HREAEE E |
sfersft 1 o STeliaTel see gEeE B,
foradht g 59" 3 FE 20-30
T IR | 3R o T7 i 3T g2
HTOT A R |
FARTAET #2 o1 970 7, S -9 i 3 I
-t 2 | 3w we e ot i
a5 wEE 55" 2 |

31.

JDD-39/TGT-ENG/X-14

it #3 Hare FEwEl #1 54" 1 2 | 39*
F@ AR ¢ |
arferrsft #4 9 o7id i we AT O
T I 38 °h1 & | FEwiE! § wEe
&l gaef-vae s el 5' ] |
(A) 1,2
(B) 2,3
(C) 1,4
(D) 2,4

32. W W ITETET 96§ 76 R/
ST TR @ | gorblifiur =7 314 € % see,
pixngorbl F1 3¢ ¥ fafem %3 3
arthtus! =T 31 ® B =1 28e A “ceiling
tile” % ToTU = &1 I158 I BT 7
Jr few e wrsEi 4 | T4 |
(A) Gorbltusl
(B) Flurgorbi

(C) Arthflur
(D) Pixnarth

i e # sgEnfed gul e v fin
AR |

agnoscrenia ¥ 314 & ften geet
delanocrenia &1 314 2 fav=n 5™
agnosdeery %1 5aeta 8 9l gl &1
“black widow spider” % fou 9 o=
U YTeET H H S W SR &l gFaT 8 7
(A)
(B)
(C)
(D)

33,

Deeryclostagnos
Agnosdelano
Agnosvitriblunin
Trymuttiagnos
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I\ I ‘ E;_Jr 34. Here are some words translated 36. How much rain did Mile City get 7
;|‘ l r_-:.:I 5 from an artificial IEI.I"IQLIB,QE. {A} 12 inches {E} 27 inches
| i '?“EE':: hapllesh means cloudburst (C) 32 inches (D) 65 inches

srenchoch means pinball
resbosrench means ninepin

! e 8 "
Wikish word codld maan “dioud 37. Which city is in the desert %

nina” ? (A) Last Stand

(A) Leshsrench (B) Ochhapl (B) Mile City

(C) Haploch (D) Haplresbo (C) New Town

(D) Polberg

| Read the below passage carefully and answer
: the questions : 38. Where is Olliopolis located ? J
! Five cities all got more rain than usual this year. (A) The mountains
, The five cities are : Last Stand, Mile City, New (B) The coast
I Town, Olliopolis and Polberg. The cities are (C) Inavalley

located in five different areas of the country :
the mountains, the forest, the coast, the desent
and in a valley. The rainfall amounts were :

(D) The desert

; : 39. Look at this series: F2, __, D8, C16,
12inches, 27 inches, 32 inches, 44 inches, and B32 ... What number should fill the
65 inches. blank ?

* The city in the desert got the least rain | the (A) A1B
city in the forest got the most rain. (B) G4

* New Town is in the mountains.

* Last Stand got more rain than Olliopolis.

* Mile City got more rain than Polberg, but (D) E3
less rain than New Town.

* Dlliopolis got 44 inches of rain.

(C) E4

40. Look at this series : V, VIII, XI, X1V,
XX, ... What number should fill the

* The city in the mountains got 32 inches of blank ?
rain; the city on the coast got 27 inches of rain. &
(A) IX
35. Which city got the most rain 7 (B) XX
(A) Last Stand (B) Mile City (C) XV
(C) New Town (D) Polberg (D) XV
Ax* -14-
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| a4, T TS sEeE TE e e &Y 36, wge Tl # Pt e g8 7 ‘
| i (&) 123 ® 27%

hapﬂesnwnmwm%, o et ©) 5%
srenchoch = 3id fim =t & 3 ©)
resbosrench 34 A1g TiA 2 A1 “cloud o7 R ?
nine” 3 fort S w1 TTee IO BAT 7 Y
(A) Leshsrench (B) Ochhapl &) e R
D) Haplresbo
(C) Haploch (D) plres I
ey o T e <R A T ST (D) et
%ﬁ?%: . )
Bag?
-. g v, mfl A am s A gem i e | 38 Fferarfer e

sy s g | e e @ SRR TS, W (A) TEEW

o, =g =1, Siferen 3R Tee |3 (B) WHEE

st T 2ot 3 ff sl w e € e

ETE] AT S H, S W TR -

e § i ww ard §| arie F A (D) I

{p¥a, 27%9, 3259, 44 T NS T |

Wil 3T 3 = sy gs; e e 50, Y TEA 1 =E § @ F2, ., D8,

Tl w1 TR B C16, B32, ... 31T HE F B 7
| . i (A) A16
| “A T TSI H E | v
| + e e sifrivdifer 4 g ® G
Iu aﬁmg@ (C) E4
vzt i) 2 dverent 1 ger H AU e (D) E3
T 58 |
mﬁfjmj 40. FH UEA I oI 9 W ;q:u:%;;
+ qeret w32 39 i wEde I XIV, _, XX,
' mﬁms’amﬁmﬁh (A) IX
| B) XX
a5 Frm e wed AR I gR 7 s
(A) w2 EHE (B) wEe &
(C) A=A (D) Gt (D) XVii
A* 15
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iii) Arithmetical and Numerical Ability

41. The length of the bridge, which a train 44, A can do a work in 15 days and B in
130 metres long and travelling at 20 days. If they work on it together for
45 km / hr can cross in 30 seconds, is 4 days, then the fraction of the work
(B) 225m (A} 1/4 (B} 1/10
(C) 245m (C) 715 (D) 8/15
(O} 280m 45. Inacertain store, the profitis 320% of
the cost. If the cost increases by 25%
42. Two trains running in opposite but the .selling price remains constant,
directions cross a man standing on ﬁﬂﬂ_mximfihalﬂmat percentage ofthe
the platfarm in 27 seconds and selling price is the profit?
17 seconds respectively and they (A) 30%
cross each other in 23 seconds. The B L =4
ratio of their speeds is (B) 70%
(A) 1:3 (C) 100%
(B) 3:2 (D) 250%
(C) 3:4 46. Present ages of Sameer and Anand
(D) None of the above are in the ratio of 5 : 4 respectively.
Three years hence, the ratio of their
, ) - ages will become 11 : 8 respectively.
43. What_rs the length of a running tra!n What is Anand's present age in
crossing another 180 metre long train years?
running in the opposite direction?
A) 24
| The relative speed of the two trains (A)
was 150 kmph. (B) 27
Il. The trains took 9 seconds to cross (C) 40
each other. (D) Cannot be determined
(A) 1alone sufficient while Il alone nol
sufficient to answer 47. A grocer has a sale of Rs. 6,435,
(B) Nal fficient while | alone not Rs. 6,927, Rs. 6,855, Rs. 7,230 and
) 4l ff?c?:rit’:alan;war : Rs. 6,562 for 5 consecutive moenths.
How much sale must hé have in the
{C} Either | or || alone sufficient to sixth month so that he gets an
answer average sale of Rs. 6,5007
(D) Both | and 1l are necessary to (A) Rs. 4,991 (B) Rs. 5,991
n
A (C) Rs.6,001 (D) Rs. 6,991
A* 16
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iii) STETTTOTA T Ud HEETeRE ST

U 130 Hier &=t 29 45 fr .l /5 &
THEIT H BU 30 Hehe | wF fyg 71
R Al 8, 39 fars i wtard s 7

(A) 200 Hiex
(B) 225t
(C) 245 Hiex
(D) 250 Hi=X

ol feem @ <=t 2 39 weed W
we =afdq ®1 U 27 BHE N
17 €3 § g ol 2, o 21 39w
TR T 23 HEe H ar T 8 51 3
<61 71Tl T ST I B

(A) 1:3

(B) 3:2

(C) 3:4

(D) THE FIE 98

180 Hizx &=l 27 fagfia R @ st o

T gall 3w IR # | g g

ol SIS Tohal BT 7

. JHT 2 i |me i 150 Brendte
yfe =2 o |

Il EF1 291 4 TH-gEL H1 IR F o
9 The w1 uag o o |

(A)
|| et gt e 8 |

(B)
| ST TATE TE R |

(C)

I S = feru | e oA B, st
IS4 & Toru || e vt B, St

TR F Froaa g g sl @
I o e et esh R |
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U F %) F4 W A F 15 RgF gqm
AT & R B F1 20 B9 =, 3vw aF
UF g e s Fa £ 91 4 e ang
AR | SR S YIS = E S
BERE |
(A} 1/4
(C) 7/15

(B) 1/10
(D) 8/15

el o g | 9T w1 320% @™
3 | TR o H 25% F gfE 8, @l
ot geg T vE-wn ) € A e
Tl % T 1w e g 7

(A) 30% (B) 70%
(C) 100% (D) 250%

T 3R 77 F FATH I H FTE
FU9:5:4 8 | T A TS 91 39
1 FITEFEI; 11:98 | AHG FHradom
IWFTR 7

(A) 24

(B) 27

(C) 40

(D) Freifia e form s w=ren

U TR T e TIat 979 e 6,435 %
B,927%.,6,855%., 7230%. 371 6,562 %.
# i g |9 ueh 3 e e
T SR I, TR 3Heh! farehl w s
6,500%. B |

-

(A) 49917%,

(B) 5,991%.
(C) 6,001 %.
(D) 6,991,
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The greatest number of four digits
which is divisible by 15, 25, 40 and
75 is

(A) 9000
(B) 9400
(C) 9600
(D) 9800

The product of two numbers is 4107.
if the H.C.F. of these numbers is 37,
then the greater number is

(A) 101
(B) 107
© 11
(D) 185

The cube root of .000216 is
(A) B

(B) .06

C) 77

(D) 87

Running at the same constant rate,
6 identical machines can produce a
total of 270 bottles per minute. At this
rate, how many bottles could 10 such
machines produce in 4 minutes?

(A) 648

(B) 1800
(C) 2700
(D) 10800
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A vessel is filled with liquid, 3 parts of
which are water and 5 parts syrup.
How much of the mixture must be
drawn off and replaced with water so
that the mixture may be half water and
half syrup?

(A) 1/3

(B) 1/4 :
(C) 1/5
(D) 177

A train can travel 50% faster than a
car. Both start from point A at the same
time and reach point B 75 kms away
from A at the same time. On the way,
however, the train lost about 12.5
minutes while stopping at the
stations. The speed of the car is

(A) 100 kmph

(B) 110 kmph

(C) 120 kmph

(D) 130 kmph

Mr. Thomas invested an amount of
Rs.13,900 divided in two different
schemes A and B at the simple
interestrateof 14% p.a. and 11% p.a.
respectively. If the total amount of
simple interest earned in 2 years be
Rs. 3,508, what was the amount
invested in Scheme B?

(A) Rs. 8,400
(B) Rs. 6,500
(C) Rs.7,200
(D) Rs. 7,500
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i

AR Heiare wad 2 g Fa-E ®
S 15, 25, 40 3R 758 farsa 2 |
(A) 9000

(B) 9400

(C) 9600

(D) 9800

2 HEsll & UEEA 4107 8 | 3
3 el I=EH AW UHES
oty e, o, Uk, 37 2 @ T S
sE HE-H 2 7

(A) 101

(B) 107

€ 111

(D) 185

FATC 000216 1 ST F1 BT 7
(A) &
(B) .06
C) 77
(D) 87

AT We B TR & @ "y 9id e
270 Hiel WG € | TETE 10 #EiE
Tt & R @ 4 Tiwe § e daw
WO ST HHAT S 7

(A) 648

(B) 1800

(C) 2700

(D) 10800
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U w4 0 el W ST 2, R i
Wt gt 39 o 9 g § | e
oy =1 v | T o 3 fefean o
fiyermn s, a1t 3T g et s
fomm g1 =g 7

(A) 1/3

(B) 1/4

(C) 1/5

(D) 177

T FR A g H 47 50% ot T ®
AT HA | TFRE EEH A T
=e1 36 e & SR AE 75 et gl
7 B foig woagad! & | <ifee T e
Tt w2x W w9 g oA 125 e
ST AT R | R e

(A} 1o0fE.Ht. g
(B) 110fF.Ht, /faer
(€) 120F.H. /g=
(D) 130f® . /eer

7, 9THE 13,9005, F UM F S 9 A
=72 54 A 31 B 910 = g i 7 0T
14% 30 119% fqad & wes =5 &t
o 3w ad | 3R 91 g ° g
w7 2% T FHTE T e Tf 3,508 %.
2 4l B =hin d 3 T e e 7

(A) 6,400%,
(B) 6,500F%.
(C) 7.200%.
(D) 7,500%.
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A rectangular park 80 m long and
40 m wide has two concrete
crossroads running in the middle of
the park and rest of the park has been
used as a lawn. If the area of the lawn
is- 2,109 sq. m, then what is the width
of the road?

(A) 2.91m

(B) 3m

(C) 582m

(D) None of these

What decimal of an hour is a second ?

(A) .0025
(B) .0256
(C) .00027
(D) .000126

A tank is filled by three pipes with
uniform flow. The first two pipes
operating simultaneausly fill the tank
in the same time during which the tank
is filled by the third pipe alone. The
second pipe fills the tank 5 hours
faster than the first pipe and 4 hours
siower than the third pipe. The time
required by the first pipe is

(A) 6 hours

(B) 10 hours
(C) 15 hours
(D) 30 hours
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If one-third of one-fourth of a number is
15, then three-tenth of that number is
(A) 35

(B 36

(C) 45

(D) 54

The compound interest on Rs. 30,000
at 7% per annum is Rs. 4,347. The ~
period (in years) is

(A) 2

By 5/2

(C) 3

(D) 4

A man purchased a cow for Rs. 3,000
and sold it the same day for Rs. 3,600,
allowing the buyer a credit of 2 years.
If the rate of interest be 10% per
annum, then the man has a gain of
(A) 0% >

(B) 5%

(C) 75%

(DY 10%
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(A} 2.911iex
(B) 3

(C) 5.82 i
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T e A YoHe 1 SIers F1 e 7
(A) 0025

(B) .0256

(C) .00027

(D) .000126
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(A) B
(B) 109z
(C) 15%I
(D) 30%=
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SR TFH-ToETs o uEm-AgT i we
15 2 91 diH-2eR i 5

(A) 35
(B) 36
(C) 45

(D) 54

7 HEgle = il 2 ¥ 30,000 W
uftr 99 7% =a & TaE ¥ 4,347 ®.
foperft sqafiy (weh) | fremn 2 7

(A) 2
(B) 5/2
(C) 3
(O) 4

usk =5fd 3,000 %, # v Y wiem &
3 3 B e wdliER # g we i
39l W 3,600 F. § &9 241 & | W
yfted sam Tt 10% & @1 39 HAfea 4

Terar e =T 7
(A) 0%

(B) 5%

(C) 7.5%

(D) 10%
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iv) Testof Language : Hindi
syra e : R
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(A) T

B) TEam
(C) 5
(D) g
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v) Test of Language : English

WTHT Q0T ; SISl
Directions for Questions No. 81 - 82 : Directions for Question No. 85 :
Read the each sentence to find out whether | In each guestion beiow, there is a sentence
there is any grammatical error in it. The error, if | of which some parts have been jumbled up.
any will be in one part of the sentence. The | Rearrange these parts which are labelled
letter of that part is the answer. If there is no | = Q. R and S to produce the correct
b condl sentence: Choose the proper segquence
error, the answer is ‘D'’ (Ignore the errors of
punctuation, if any.) 85. When he ;
P : did not know
81. (A) Webclifscuss?: abuu; the Q- he was nemausand
it i 8 R : heard the hue and cry at midnight
(B) On the eve of the examination. S what o 'do
(C) That | found it very easy to work it
onit The proper sequence should be
A} R PR
(D) Noerror. UG PQES 8, Q9
(C) SQPR (D) PORS
82. (A) AnIndian ship 86. Mame the kind of tense used in the
(B) Laden with merchandise below given sentence
Ly 1 “We are going o rallway station”
(C) Gotdrowned in the Pacific Ocean i '
(A) Past
DY, praEah (B) Present continuous
83. Catching the sarlier train will give us (&) Fastporn
the to do some shopping. (D) Present perfect continuous
(A) Chance 87. Superlative degree of comparison of
(B) Luck e |
ver
(©) ‘Possibility (A) Goodness (B) Cleve
, (C) Boldest (D) Best
(D) Ocecasion
88. DIVA:OPERA =
84. Success in this examination depends (A) Producer : theatre
nara war aione, (B) Director ! drama
(A) at (B) over (C) Conductor : bus
(C) for (D) on (D) Thespian : play
Ax* -25-

Latest Sarkari Jobs, Govt Exam Results,

Vacancies and updates on one click




% JDD-39/TGT-ENG/X

HL 89. EMBEZZLE 92. Extreme old age when a ma
HIE - - behaves like a fool
f { i;' E; (A) Misappropriate
| J H i (B) Balance (A) Imbecility
I B (C) Remunerate (B) Senility
(D) Clear (©) Dotgs

Directions for Questions 90 - 91: (D) Superannuation

(Active/Passive voice) .
Passage 1: Work expands so as to fill the

time available for its completion. The
general recognition of this fact is shown.jn
(A) After being driven to the museum, | the proverbial phrase. ‘It is the busiest man
Professor Kumar was dropped at | who has time to spare’. Thus, an elderly
his hotel. lady at leisure can Spend the entire day
writing a posteard to her niece. An hour will
be spent in writing a postcard, another
| hunting for spectacles, haif an hour to
| (C) After she had driven Professor search for the address, an hour and 2
| Kumar to the museum she had qQuarter in composition and twenty minutes
dropped him at his hotel. In deciding whether or not to take an
(D) After she was driven Professor | umbrelia when going to the pillar box in the
Kumar to the museum she had | Street. The total effort that could occupy a
dropped him at his hotel, busy man for three minutes, all told may in
this fashion leave another person completely
exhausted after a day of doubt, anxiety and
toil.

90. After driving professor Kumar to the
museum she dropped him at his hotel.

(B) Professor Kumar was being driven
dropped at his hotel.

91.  Iremember my sister ta king me to the
museum.

(A) | remember | was taken to the

g 93. What happens when the time to be
museum by my sister,

Spent on some work increases ?

(B) | remember being taken to the ‘
museum by my sister. (A) The work is done smaothly,

(C) 1 remember myself being taken to (B) The work is done leisurely,

ey the museum by my sister. (C) Work consumes all the time.

(D) | remember taken to the museum . _
by my sister, (D) The work needs additional time.

Latest Sarkari Jobs, Govt Exam Re§ults, m
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94. Explain the sentence : ‘work expands
so as to fill the time available for its
completion’.

(A)

(B)

(€)

(D)

The morework there isto be done.
the more time needed.

Whatever time is available for a
given amaount of work, all of it will
be used.

If you have more time you can do
some work.

If you have some important work
to do, you should always have
some.

95. What is the total time spent by the
elderly lady in writing a postcard ?

(A)
(B)
(C)
(D)

three minutes
four hours and five minutes
half day

the entire day

Passage 2 : The surprisingly abundant life
of the Indian Ocean is confined to the upper
layers ; the deeper and especially the
bottom waters are devoid of oxygen and are
often permeated with hydrogen sulphide.

96. The sentence gives the information

‘about

(A) The life of the people near the
Indian Ocean.

(B) The reason why life exists in
particular water layers.

(C) The reason why oxygen is found
in the bottom layers.

(D) The reason why hydrogen

sulphide is found in the bottom
layers.

JDD-39/TGT-ENG/X-14

97. The bottom waters of the Indian
Ocean

88.

g9,

100.
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(A)
(B)
(C)
(D)

Have no oxygen.
Have large amounts of oxygen.
Have no hydrogen sulphide.

Contain oxygen and hydgogen
sulphide.

The watars of the Indian Ocean

(A)
(B)

(C)
(D)

Are devoid of life.

Are always permeated with
hydrogen sulphide.

Have life only in the lower layers.

Lack life and it is very surprising.

Which of the following is the most
opposite of the word ABUNDANT, as
used in the passage 7

(A)
(B)
(C)
(D)

Plentiful
Minute
Insufficient
Tiny

The sentence suggests which one of
the following :

(A)

(B)

(C)

(D)

Observers are surprised at how
little life exists in the Indian Ocean.
Hydrogen suiphide is necessary to
life,

Both oxygen and hydrogen
sulphide are necessary to life.

Oxygen is not necessary for marine
life.
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102.

103.

A*

SECTION-B

Post Specific Subject-Related Questions

Diagrams can be used effectively to 104.

test which one of the following skills ?

(A)
(B)
(C)

(D)

Education, according to John Dewey,

is

(A)
(B)
(C)

(D)

An effective counsellor must have all

the following characteristics EXCEPT

(A) & genuine rapport with counselea

(B)
(C)

(D)

Application
Speaking

Listening

Watching 105.

a professional need
a family need
a psychological need

a social need

perpetual sensitivity

identical

clients

personal

|3

106.

personal traits as the

security
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Effective classroom management is

when there is

(A) Creation of learning enviranment

(B) Reduction of student
misbehaviour

(C) Creationofan orderly env'rron{'nent

(D) Detection of inappropriate
behaviour

The words a learner recognizes, but
does not use in herhis speech or
writing are called

(A) productive vocabulary
(B) formative vocabulary
(C) active vocabulary

(D) receptive vocabulary

All the following are valuable pieces
advice to a language teacher
designing oral activities for his/her
students, EXCEPT

(A)  If the subject matter of the listening
passage is related to the learner's
needs, the teacher need not WOrTy
about the type of delivery of the
passage

(B) A thorough rehearsal of the script
should be done before delivering
the material for listening activity

(C) The teacher should identify the
learner's need for the kind of
listening skill to be focussed

(D) Both (A) and (C)



107. The main objective of teaching is 111.
to impart information to students

to ready students for examinations
to bring about socially desirable

108.

108.

110.

(A)
(B)
(©)

(D)

Identify the practice which cannot be
called ‘a faulty reading habit'

(A)
(B)

(C) finger pointing

(D)

While framing a question paper, a
teacher has to ensure in it, the
absence of

(A)
(B)
(©)
(D)

if a child speaks unusually loudly, the
teacher should understand that the
child may have

(A)
(B)
(C)
(D)

to give a thorough knowledge of
the syllabus

behavioural changes in students

regression 112,

silent reading

subvocalization

subjectivity

no use of vague words
reliability

objectivity

difficulty in speech
hearing impairment

arrogance
repairable voice disorder
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Who among the following is a
psychologist who has contributed
immensely o the study of
differences across stages of human
development before adulthood 7

(A) Jean Piaget

(B) Carl Jung

(C) Holland .
(D) Sigmund Freud

Microteaching aims at

(A) developing teaching skills in
teachers

(B) developing students’ ability

(C) achieving partial command of the
subject

(D) developing feedback skills of
students

One of the functions of NCTE is

(A) to prescribe syllabus for
secondary education

(B) to promote coordinated
development of teacher
education =

(C) to conduct surveys relating to
education

(D) to improve the quality of planning
in education
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114. As part of reinforcement, a teacher

can ulter “Wah!”, "humm”, "ahal” etc.
This is usually categorized as

(A) Positive Verbal Reinforcement

skill

(B) Negative Non-Verbal Reinforcement

skill

(C) Extra Verbal Cues

(D) MNegative Verbal Reinforcement

skill

115, A good teacher is one who
(A) lives an aitruistic life
(B) has command of the subject

(C) has an impressive academic
record

(D) has genuine interest in his
studenis

116. Which one of the following reading
tasks do you use to think up a suitable
tittle for reading passages 7

(A) Reading for detail
(B) Skimming
(C) Scanning

(D) Understanding
A*
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The material or passage used 1o test
the learner's listening skill must be

(A) modelled on heard speech
(B) densely structured
(C) formal in style

(D) read out very slowly

In a classroom, a good introduction
by the teacher to a texttobe used for - <~
reading comprehension exercise

(A) s elaborate
(B) Isaone-way lecture by the teacher

(C) Does not tell the students what
they themselves can find out in the
passage

(D) Provides glimpse of all the
important points in the passage

Which of the following is a style of
Programmed Instruction deveioped

by Norman A. Crowder 7
(A) Linear style 2
(B) Branching style

(C) Framing style

(D) Mathematics



2

120.

121.

122.

A*

The most effective technique a teacher
may use in order to enable students

io attain ‘Affective Level Objective’ is

(A)

Experimentation

(B) Discussion

(C) Lecturing

(D) Dramatisation

The Kothari Commission of

Education was set up in
(A) 1952

(B) 1986

(C) 1964

(D) 1970

When we study the influence of
heredity on individual differences of

learners, we usually focus more on
(A) Social heredity

(8)
(C)
(D) Biological heredity

Cultural heredity

Institutional heredity

e

123.

124.

125.

-31-
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Curriculum can be designed and
organized through

(A) Context-centred approach

(B) Subject-centred approach

(C) Social-development approach

(D) Teacher-centred approach

Holland's theory of careers assumes
six kinds of environment populated by
six types of individuals. Which of the
following is NOT one of these six
kinds of environment 7

(A) Realistic
(B) Virtual

(C)
(D)

Investigative

Enterprising

Which of the following combinations
has ONLY the criteria determining the
selection of presentation mode for the
content at hand ?

(A)

Subject matter, evaluation, time
available

Evaluation, instructional
objectives, subject matter -~

(B)

Content, teacher's qualification,
time available

(©)

(D)

Instructional objectives, student’s
background, teacher's teaching

style
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126. Awarding ‘grades’ in place of ‘marks’
is recommended as

(A) Grades have greater attraction for

learners

(B) Differentiation among students

based on marks will be removed

(C) Rote-learning is minimised
(D) Oral examinations can be
accommodated

127. Among the stages of cognitive
development, pre-operational stage
is the level at which an individual
accomplishes

(A) Trial-error behaviour
(B) Inferences
(C) Perceptual reasoning

(D) Goal directed behaviour

128. National Talent Search
Examination is conducted by

~ (A). NCERT
(B) CBSE
(C) MHRD
(D) NIEPA

A*
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129. Teaching-learning environment in
school will suffer if

(A) The autonomy of the learner is not
respected

(B) The teacher innovates
incessantly

(C) There are regular Parent-Teacher
meets

(D) The teacher is not paid promptly

130. Identify the process that is NOT
involved in comprehension

(A) Interpretation
(B) Extrapolation
(C) Translation

(D) Perception

Fill in the blanks to complete the following
sentences by choosing the appropriate
word from among options given :

131. Since many old shops have
across the street, the
earlier directory is

(A) come up ... out-dated
(B) started ... anachronic

(C) transferred ... redundant

(D) relocated ... obsolete




132.

133.

134.

The internet is a medium where users
have nearly choices and

constraints about where to
go, and what to do.

(A) unlimited ... maximum
(B) abundant ... minimal
(C) encouraging ... frustrating

(D) sufficient .... little

Besides exiraordinary

skills, Raman had a
voice, which held his audience in

rapture.

(A) oratory ... SONOTOUS
(B) speaking ... coarse
(C) giftforthe gab ... gruff
(D) moralizing ... chirpy

The plotters met S0 as
to conspire a against the
oppressive rule of Julius Ceaser.

(A) secretively ... ban
(B) clandestinely ... revolt
(C) aggressively ... crime

(D) hiddenly ... mutinous

Latest Sarkari Jobs, Govt Exam Results,
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135. The daily accused the leader of
for making promises

he knew he could not

(A) impunity ... uphold
(B) double-faced .... keep
(C) deception ... keep

(D) hypoerisy ... fulfil

Choose the appropriate prepositions from

among the choices to fill in the blanks and
complete the sentences !

136. The latest reports received say power-

babu Paneek Chatterjee, at present

deputation in Washington

D.C., is expected take over

as the Prime Minister's personal

secretary.
(A) upon;up
(B) in;to

(C) on;to

(D) in;over
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137. Now, a 50-paise coinis a 140. Formerly, coal was considered the
numismatic slice of the past only source of energy ; now,
e Ty the age of coal we
the people who have mc:tvlecl the age
experienced the anna-paise age. of electricity.
A) outof;to
(A) of;of (A)
(B) from;into
(B) with;in
(C) from;overto
C) with; for
W) (D) outof;into
(D) along ; for
Choaose the appropriate verbs to fill in the
138. There is a similar continuum blanks and complete the sentences below :
the optimism/ '
ks - LR 141. A recent study done in the state,
ps choanalysts 20 districts, revealed that
o : the Siddhis the poorest
(A) in;in community in the state.
(B) on;among (A) having covered ; were
(C) on;in (B) having covered ; had been
(D) in ; between (C) covering ; were
(D) covering ; are
139. Some economists argue that
allowing the free-market to operate ; ‘
: ; 142. In contrast to the expansion and
interference is the ; .
i development of business education
most efficient method of ,
SR B all in the U.S., Japanese b-schools
o e no more thamtwo
cases.
hundred MBA's each year.
V) "ONORS, ) (A) have been graduating
(B) despite ; of (B) graduating
(C) with; of (C) graduate
(D)} with ;in (D) would graduate
A* -34-
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143.

144.

145.

The welfare of all people can be

increased only if we use available
human resources in the most efficient
way.

(A)
(B)
(C)
(L)

could have been increased
can be increased
has to be increased

must be increased

Conversely, if we the
luminosity of stars in other galaxies,
we their distance by

measuring thier apparent brightness.

(A)

out
(B) knew ; could work out
()

(D)

know : can work out

know : could have worked out

Europe us the higher
obligations of public good, which

society independent of
individual caprice.

(A)
(B)
(C)
(D)

has been teaching ; make
has taught ; making
has taught ; made

will teach ; makes

could know ; would have worked

146. (A)

(B)

(D)

147. (A)

(B)

(C)
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Choose the sentence that conforms to
Standard English usage :

Those who wish to see mankind
fruitful in the work which men alone
can do, will take a little account of
national boundaries.

Those who wish to see mankind
fruitful in the work which men alone
could do will take a little account of
national boundaries.

Ones who wish to see mankind
fruitful in the work which ones alone
can do will take a little account of
national boundaries.

Those who wish to see mankind
fruitful in the work which men alone
can do will take little account of
national boundaries.

The more abstract the guestion you
ask me, the hard it becomes for me
to get in touch with any feeling at all.

The more abstract the question you
ask me, the harder it becomes for
me to get in touch with any feeling
at all.

The most abstract the question you
ask me, the hardest it becomes for
me to get in touch with any feeling
at all.

The abstract the question you ask
me, the harder it becomes for me 10
get in touch with any feeling at all.
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148,

149,

(A)

(B)

(C)

(A)

(B)

(D)

That in the end the great
development of the scientific
movement occured mainly in
Protestant countries is due to the
impotence of the natural
churches.

That ended the great development
of the scientific movement occured
mainly in Protestant countries is
due to the impotence of the natural
churches.

End of the great development of the
scientific movement occured
mainly due to the natural impotence
of the churches.

The end of the great
development of the scientific
movement occured mainly due in
part the impotence of the
churches.

Traditional Chinese medicine is
believed to have less side effects
and is preferred to chemical drugs.

Traditional Chinese medicine is
believed ta have fewer side effects
and is preferred than chemical
drugs.

Traditional Chinese medicine is
believed to have fewer side effects
and is preferred to chemical drugs.

Traditional Chinese medicine are
believed to have fewer side effects
and are preferred to chemical

drugs.
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150. (A) No visitor can miss the sight of the

imposing 10 feet tall idol of Lord
Shiva at the entrance.

(B) No visitor can miss the sight of the
imposing 10 foot tall idol of Lord
Shiva at the entrance.

(C) Visitors can not miss the sight of the
imposing 10 feet tall idol of Lord
Shiva in the entrance.

(D) Visitors hardly miss the sight of the
imposing 10 feet tall idol of Lord
Shiva at the entrance.

Read the following passage and answer
the questions given below it :

The World Bank has been pressing for the
removal of restrictions on Floor Space Index
(FSI) — or at least their considerable
relaxation — in the inner paris of Mumbai
and Bangalore, The thinking that leads to
this recommendation is based on a
mathematical model.

Called the monocentric-city model, this
assumes the city is inhabited by a number
of identical residents, each earning the
same income, and who all work in the
Central Business District (CBD). The
inhabitants commute from their residences
to the CBD on a dense radial road network,
paying a certain amount per round-trip mile
(including the cost of travel time). An implicit
assumption is that commuting is by car, not

Vacancies and updates on one click
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by public transport that might e ad to some 151. The author of the passage is to likely

preferred travel routes, and not by walking to agree with which of the following 7

which incurs no explicit travel cost. Further, (A) The monocentric-city model from

each resident is assumed to be a renter, the World Bank assumes

paying a certain amount per square foot of homogeneity of metropolitan cities

housing, and occupying a certain amount in India. )
of square feet of housing. The price (B) The World Bank has utehemenﬂy :

naturally falls with distance from the CBD, put across its emphasis on

removal of restrictions on FSI,
using a laudable mathematical
model.

and the housing area occupied increases.
The mathematical formulation then moves

through various complexities to the (C) The monocentric-city model
consideration of FSI, and what happens assumes a homogeneous life style
when FSlis restricted (as itis in most cities). among the residents in the inner
The FSI restriction tends to limit population parts of the two cities.

“density in the central part of the city ; and
s causes the city to spread out.

Studying the condition of the new resident
as the city grows, the model suggests that
if FSI restrictions in the inner city are
removed , this accommodates more people
closer fo the centre and so their commuting 152. It can be inferred from the passage
times are reduced. This is claimed to result that

in a welfare gain for them, which is
measured in terms of their reduced
commuting costs. So the claim is that lifting
FSI restrictions brings about overall welfare
gain.

The first indication that something is flawed 8)
in the argument comes from consideration
of where the limit lies if we allow unlimited

(D) Because of the mathematical
mode! of the Warld Bank, there is
stunningly unlimited saving
possibility, leading to zero
commuting cost.

(A} The monocentric-city model of the
World Bank assumes that each
rasident in Mumbai eams the same
income.

As per the monocentric-city model,
every individual working in the CBD
has a car to commute to the place of

densification. Every increment in density WA

will result in still more saving for commuters. (C) The monocentric-city model dogs

As the model stands, there is no limit to the not consider the residents going to I
saving possible, until commuting cost is work by walking because it costs

raduced to zero. We are obviously missing no travel charges,

something. There has to be a gonstraining (D) The monocentric-city model of the

parameter that would put a cap, soconer or World Bank unfortunaiely ignores

latet, on how small the city can get while the importance of public transport

being both efficient and attractive. for a Bangolorean.

A* .97-
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153. Which of the following is TRUE
according to the first paragraph of the

passage 7

(A)

(B)

(C)

(D)

154.

The World
demanding nothing less than total

Bank has been

repeal of FSI in Mumbai and
Bangalore.

The World Bank has been flexible
in allowing for even a considerable
based

relaxation on a

mathematical model.

The mathematical model on
which the World Bank's
recommendations are based is
called ‘mono-centric-city model'.

The World Bank has preferred to
demand for removal of restrictions
on FSI only in some areas of
Mumbai and Bangalore.

The attitude of the author of the

passage towards the World Bank's
demand and its basis can be best

described as

(A)
(B)

Appreciative

Critical

(C) Sceptical

(D)
Ax*x

Indifferent
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155. Which of the following best reflects
the relationship among the distance
from CBD, rent on housing space and
the occupied housing area in Mumbai
and Bangalore ?

(A) Distance from CBD and rentals on
housing are inversely related while
housing area occupied increases
away from CBD.

(B) Both housing rentals and area
occupied are inversely related 1o

the distance from CBD.

(C) All the three are inversely related

to one another.

All the three increase
proportionate to an increase in
oneof them.

(D)

Read the following passage and answer
the questions set on it :

Pope Benedict's sudden resignation has
stunned the world, and Pundits are
searching for motivations beyond his plea
of old age. To complicate matters, there is
also a strange 900-year-oid prophecy
involved. i

According to a famous prophecy made by
St. Malachy, a clairvoyant Bishop of the 1200
century, there would be 112 more Popes.
Pope Benedict, who resigned, was the
111th And whoever is elected Pope in the
next few days will be the 112", During the

=38
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papacy of this final Pope, says the

prophecy, Rome-and the Church-will be
wiped out ! To quote its ominous words :
“The City of Seven Hills shall be dastroyed,
and the dreadful Judge shall judge the
people”.

Rubbish, one might say. We have heard a
lot of lunatic Doomsday predictions, and the
Mayan prophecy is still fresh in our minds.
But this time there is one small difference :
St. Malachy actually described each of the
111 Popes till date with eerie accuracy,
summing up each one with a vivid Latin

phrase. And so far he's never been wrong.

For example, he described Pope
Paul VI as ‘Flos Florum', meaning 'Flower
of Flowers'. Paul VI's coat of arms, as it
happened, featured three Iris blossoms. His
successor, Pope John Paul |, was described
as '‘De Medietate Lunae’, or ‘Of the half
moon’. This was puzzling, because the
description just did not seem 10 fit. But one
month later, when John Paul | suddenly
died, one realized that he had become Pope
at the time of the half moon and died by the
next half moon. His successor, Pope John
Paul I, was described as ‘De Labore Solis’,
or ‘Of the eclipse of the sun': it turned out he

was born during a solar eclipse !

A*
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People have been talking about the
prophecy of the Popes with increasing
frequency since the 1970s, as the end of
the line drew closer. In 2005, when John
Paul 11, the 110" Pope, died, people locked
at the prophecy again, in anticipation, and
found the next Pope described as ‘Gloria
Olivae’, or : The Glory of the Olive'. But what
did this mean ? Some peopie thought it
signified Israel; others said it meant the new
Pope would be a Benedictine, an order
symbolised by the olive. Sure gnough, the
conclave ultimately elected Cardinal
Joseph Ratzinger, a Benedictine priest from
Germany, who-to seemingly reinforce the
prophecy-took the name Pope Benedict
XV, after the founder of the order.

156. St. Malachy's prediction regarding
Pope John Paul | was
(A) Proven and made apparent

posthumously

(B) Realized by the suddenness of his
death

-

(C) Considered perfect because of its
timing

(D) Ratified only by his becoming Pope
at the time of the half moon

Latest Sarkari Jobs, Govt Exam Results,
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157, All the following reflect the author's
opinions as given in the passage,
EXCEPT

158. According to the passage, how are
the realization of the prediction for
Pope Benedict XVI as ‘The Glory of
the Olive', and the final selection of a
Benedictine priest as Pope related 7

(A) St Malachy's predictions show a
high degree of accuracy
(A) That Pope took the name,

(B) The World is really shacked by Pope Benedict XV

Fope Benedict XV|'s

announcement of his resignation (B)  Benedictine Order is symbolised

by the Olive
(C) St Malachy's prophecy holds the : R : i
3 (C) ‘The Glory of the Olive" signified
same promise as the Mayan
Israel
prophecy
(D) They are connected by the
(D) St. Malachy's prophecy has '

demise of Pope John Paul Il

compounded the already intriguing in 2005

episode of Pope Benedict's

resignation and its impact 160, Chronologically, which one of the

following successions of Popes is
correct 7

158, Winch of the following best

describes the author’s reaction (A)  St.Malachy — Pope Paul IV —

Pope John Paul | —

lowards the accuracy of
Pope John Paul (|

St. Malachy's predicticns ?

(B) Pope Paul VI — Pope John Paul |

» Pope John Paul Il -5 Pope
Benedict XVI

(A) The author is dismayed by their
accuracy

T th fizes ho ;
(B) The author realizes gradually how (C) Pope John Paul | s Pope John

Paul I| — Joseph Ratzinger —
Pope Benedict XV1

accurate the predictions are

(C) The author rubbishes the

probability of these predictions (D) Pope Benedict XVI 2

(D)

The author is surprised at the rate
of accuracy of these predictions

St. Malachy —» Pope Paul VI —»
Pope John Paul |
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Pick the sentence that conforms to Standard

English usage :

161. (A) Mostare of the opinion that so

long as handwriting is legibleand
not a serawl, one should not face
any ridicule from others regarding

his or her handwriting.

(B) Most are of the opinion that as long
as handwriting is legible and not a
scrawl, one should not face any

ridicule from others regarding one's

handwriting.

Most are of the opinion that as
long as handwriting is legible and
not a scrawl, an individual should
not face any ridicule from others

regarding one’s handwriting.

(D) Many are of the opinion that as
long as handwriting is legitimate
and not a scrawl, one should not

face any ridicule from others

regarding his or her handwriting.

162. (A)

(B)

(C)

D)

163. (A)

(B)

(C)

(D)

41
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I have known no culture which is
as much scornful as we of cultures

that have done better.

| have known no culture which is
as scormful as we of cultures that

have done well.

| have known no other culture which
is as scomful as we are of cultures

that have done better.

| have known no other cultures
which is as scornful as we are of

cultures that have done well.

Neither it is feasible nor desirable
to keep India’s foodgrain sector

insulated from world markets.

It is neither feasible nor is:
desirable to keep India's
foodgrain sector insulating from

world markets.

It neither is feasible nor desirable

to keep India's foodgrain sector

o

insulating from world markets®

It is neither feasible nor desirable
to keep India's foodgrain sector

insulated from world markets.




R

164. (A)

(B)

(C)

(D)

165. (A)

(B)

(C)

(D)

Human wildlife conflict is not new,
but the reports of these incidents
reflect that it is at its worst now.

Human wildlife conflict is not new,
but the reports of these incidents
reflects that is at its worse now.

Human wildlife conflicts are not
new, but the reports of these
incidents reflects that they are at
their worst now.

Human wildlife conflict is not new,
but these reports of the incidents
reflect that they are at their worse
NowW.

The impact of Tagore's ideas upon
Gandhi and Nehru has perhaps
been given less attention than they
deserve.

The impact of Tagore's ideas upon
Gandhi and Nehru have perhaps
been given less attention than they
deserve.

The impact of Tagore's ideas upon
Gandhi and Nehru has perhaps
been given least attention than it
deserves.

The impact of Tagore's ideas on
Gandhi and Nehru has perhaps
been given less attention than it
deserves.
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Each of the following sentences is divided
into four segments. Find out which of these

segments is grammatically erronecus !

166. | still feel (A) / that the distribution
of our responsibilities (B) / is not
quiet (C) / as neat as it may appear
at first (D)

167. We lived so close to the airport (A) /|~ =
that, from our balcony, (B) /| could
see (C) / aircrafts take off and land (D)

168. With their comical faces (A) / and
stuffed toy leoks (B} / lemuris (C) /
Madagascar's biggest tourist
draw (D)

168. Not only these odes (A) /convince
scholars of their antiquity (B) / but
they also received (C) / some fine

critical acclaim (D)

170. The recent charges (A) / levelled by
a former Vice Chancellor (B) /
against the highest authority of the
universities (C) / is shocking (D)




-

Following are parts of a single sentence. Pick \ 173. )
the grammatically correct parts among these '| (i)
and choose the combination with the (i)
numbers of these correct paris | (iv)
}
171. (i) The Harassed Husbands of | (A)
Borivali, |
(B)
(i) One of the last suburb (C)
(i) OnMumbai's Western Railway line, (D)
(iv) Used to meeting in the Sanjay
Gandhi National Park. 174. ()
(i)
(A) (i), (ii) and (iii) o
(i)
(B) (i)and (iv) (iv)
(C) (i) and (i) (A)
(€)
(D) (i) and (V) |
‘ 1., )
172. (i) Married Subhash ' (i)
l &
(ii) Inover thirty years, | (i)
(i) Madhu thinks " (iv)
I
(iv) They are made for one another. (A)
B
(A) only (iii) (B) (iiyand (iv) ®)
(C)
(C) (i) and (iii) (D} (i)and (iv) (D)
Ax 43
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All language teachers
Agree in Principle

That testing student’s command
of spoken language

Is important to judge their overall
language compeience.

(i), (i) and (iii)
(i}, (i) and (iv}
(it} and (iv)
(iiy and (iv)

Even if China's trade data

Is showing signs of a recovery,
Bilateral trade with India

Has remained at a slump.

(i) and ( iv) (B) (i) and (i)
(iy and (iii) (D) (i) and (iii)

My grandfather and me
Were good friends

And we had becn constantly
together

For a long times. :
(i) and (iv) |
only (ii) !

only (ii)

(if) and (i)
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176.  Which of the following works of Waiter

177.

178.

Scott is not a novel ?

(A) Ivanhoe

(B) Kenilworth

(C) The Bride of Lammermoor
(D) The lady of the lake

Match the poems with their poets :
A) 1916 seen
from 1921

i) Siegfried
Sassoon

i)  Wilfred
Owen

iii) Edmund

B) Survivors

C) Anthem
for Doomed
Youth
iv) W.B.Yeats D) Municipal
Gallery
(A) 1)=C);ii)—A);ii) -B) iv) — D)
(B) 1)-B);ii)~C);ii) —A); iv) - D)
(C) i)—B);ii)=C);iii)—D): iv) - A)
(D) )=C);ii)-B);ii)-D); iv) — A)

Blunden

In Hardy’s ‘Tess of the D'Urbervilles’,
who is described as “a fly on a billiarg-
table of infinite length" ?

(A) Tess

(B) Henchard

(C) Mrs. Yeobright

(D) Angel Clare

JDD-39/TGT-ENG/X-14

179. Charles Lamb wrote under the

180.

181.

pseudonym

(A) H.D.

(B) Elia

(C) Samuel L. Clemens

(D) Aipha of the plough

Which of the following is not
considered as a metaphysical poet 7

(A) George Herbert
(B) Henry Vaughan
(C) Robert Bumns

(D) Richard Crashaw

One of these writers below is a
distinguished novelist. He has
contributed a lot to the sub-genre
called ‘campus novel’, demystifying
and debunking university academics.
Who is the writer being referred to ?

(A) James Joyce
(B) David Lodge
(C) J. K. Rowiing

(D) P.G. Woodhouse
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183.

184.

A*

The concept of ‘Affective Fallacy’, as
identified by the new critics, is
tendency to judge a work by

(A)
(B)
(C)
(D)

its effect on the reader
the intentions of its author
its realisation of the fictitious world

its affectations as shown through
the characters

‘Astropel and Stella’ is a collection of

songs and sonnets by
(A) Philip Sydney
(B) Henry Howard
(C)

(D)

Edmund Spenser

John Milton

“There is sweet music here that
softer falls,
Than petals from blown roses
on the grass,”

These lines appear in one of Tennyson's

poems. Who utter/s these words ?
(A) Tithonus

(B) Ulysses

(C) Telemachus

(D) Companions of Ulysses
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Which of the following can best reflect
the subject of Nathaniel Hawthorne's
“The Scarlet Letter’ ?

(A)
(B)
(C)
(D) human progress

hereditary evil
the unconscious cruelty

sinful passion

Which of the following works sought
to explain in terms of structuralist
anthropology, the presence in diverse
cultures of the idea that women were
subordinate to men.

(A) ‘Having Faith’
(B)

‘Is Female to Male as Nature is 1o
Cultura 7'
‘In Search of Our Mother's

Gardens'

(C)

‘Sexual Politics’

(D)

“Away ! away ! for | will fly to thee,

Not charioted by Bacehus and his Pards,
But on the viewless wings of

poesy..."

These lines appear in

(A) JohnKeats''‘Odetoa Nightingale’
(B) William Wordsworth's ‘To the
Skylark’

Thomas Campbell's ‘Ode to
Winter’

(D) P. B. Shelley's ‘To a Skylark’

(C)




 e—

188.

189,

A*

Find the correct chronological order of 190.
the following Shakespearsan plays
(A) Macbeth —» Romeo and Juliet —»
The Comedy of Errors —» The
Tempest
(B) The Comedy of Errors — The
Tempest —» Romeo and Juliet —
Macbeth 191,
(C) The Comedy of Errors —» Romeo
and Juliet —»Macbeth — The |
Tempest i
(D) Romeo and Juliet s The Comedy |
of Errors —sMacbeth -» The iI
Tempest '
Who among the following is/are the
writer/s of The Female Spectator' ? -
(A) Addison and Steele
(B) Jonathan Swift
(C) Charles Lamb and Mary Lamb
(D) Eliza Haywood
-45-
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‘Pen is mightier than the sword' is an

exampie of

(A) Oxymoron
(B) Synecdoche
(C) Hyperbole

(D) Metonymy

A petrarchan sonnet has two parts.
The second part has six lines.

The first part of the sonnet is called
(A) an octave

(B) a couplet

(C) aquartrain

(D) asestet

Among T. S. Eliot's works, the

character of Tiresias appears in
(A) ‘Gerontion’
(B) ‘Murder in the Cathedral

(C) ‘The Love Song of Alfred Prufrock’

(D) ‘The Wasteland'
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193. “The nature found in his works is-a 197. The play wright who has written the
violent, barhe}ric and blood-ridden olay ‘Ulysses’ is
one.” Here 'his works' refers to the
poems of (A) Stephen Philips
(A} Roy Fisher (B) G.B.Shaw
(B) Ted Hughes (C) Harold Pinter
(C) William Wordsworth (D) James Joyce :
(D) Geoffrey Hill
198. Fra Pandolf's name finds mention in
194. Charles Darwin's ‘On the Origin of the Robert Browning's
Species’ appeared in the year (A} ‘Rabbi Ben Ezra'
| (A) 1880 (B) ‘The Bishop Orders His Tomb'
I (B) 1811 (C) ‘My Last Duchess'
(C) 1859 (D) ‘Pippa’s Song’
| (D) 1832
189, ‘Hamartia® means
TR e oo, oy
(A) ‘An History of the Earth and () prida
Animated Nature' (Cy reversalin fortune
(B) ‘The Vanity of Human Wishes’ (D) discovery of facts
(C) ‘Rasselas
(D) ‘Lives of the English Poels’ 500. “The primary aim of literature is to
estrange or defamiliarize” — These
196. Munoo is the central character in Mulk words sum up the essential
Raj Anand’s novel contention of 2
(A) ‘Kanthapura (A) Deconstruction
(B) ‘The Untouchable’ (B) Russian Formalism
(C) The Village’ (C) Eco-Criticism
(D) ‘Coolie’ (D) Practical Criticism
Ax* A7-
b‘f,‘fiii?éii?lé%';%i‘éi‘fﬁ%’;‘e";?c”;!*s
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IMPORTANT INSTRUCTIONS TO CANDIDATES

sufrearl & fere aew=gul s1gavl

This booklet contains 48 pages.

Please check all the pages of the Booklet
carefully. In case of any defect, please ask
the Invigilator for replacement of the Booklet.

Directions ; Each guestion or incompleta
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes
the statement and biacken (@) appropriate
circle A, B. G or D by Blue / Black Ball-Point
Pen against the question concerned in the
Answer-Sheet. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriate

circle against each question. The circie shouid
be shaded completely without leaving any space.
The correct method of shading is given below.

lw:m_;, Molned | Wirorg Methad || Goment Method

Wrmgmmmp
oL 1ele] (el iee] (e feke] o] Jelol

The Candidate must mark his/her response
after careful consideration.

There is only one correct answer to each
question. You should blacken (@) the circle
of the appropriate column, viz., A, B, C or D.
If you blacken (@) more than one circle
against any one question, the answer will be
treated as wrong. If you wish to cancel any
answer, you should completely erase that black
mark in thecircle in the Answer-Sheet and then
blacken the circle of revised response.

A machine will read the coded information
in the OMB Answer-Sheet. In case the
information is incomplete/different from the
information given in the application form, the
candidature of such candidate will be treated
as cancelled.

. Use the space for rough work given in the

Question Booklet only and not on the
Answer-Sheet.

. You are NOT required to mark your answers

in this Booklet. All answers must be
indicated in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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